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295 int

296 _elf_phdr(EIf * elf, int inplace)

297 |

298 NOTE( ASSUM NG_PROTECTED( *el f))

299 regi ster size_t fsz, nezZ;

300 El f_Data dst, src;

301 Ehdr * eh = el f->ed_ehdr; /* nust be present */

302 unsi gned wor k;

304 if (eh->e_phnum == 0)

305 return (0);

307 fsz = elf_fsize(ELF_T_PHDR, 1, elf->ed_version);

308 if (eh->e_phentsize != fsz) {

309 _elf_seterr ( EFMI_PHDRSZ, 0);

310 return (-1);

311 }

313 fsz *= eh->e_phnum

314 ELFACCESSDATA(wor k, _el f _wor k)

315 nez = _el f_msi ze(ELF_T_PHDR, work) * eh->e_phnum

316 if ((eh->e_phoff == 0)

317 (el f->ed_fsz <= eh->e_phoff) ||

318 (el f->ed_fsz - eh->e_phoff < fsz)) {

317 ((fsz + eh->e_phoff) > elf->ed_fsz)) {

319 _elf_seterr( EFMI_PHTAB, 0);

320 return (-1);

321 }

323 if (inplace & fsz >= nmsz && eh->e_phoff % sizeof (EIfField) == 0)

324 el f->ed_phdr = (EIf_Void *)(elf->ed_ident + eh->e_phoff);

325 el f->ed_status = ES_COOKED;

326 } else {

327 if ((elf->ed_phdr = malloc(nsz)) == 0) {

328 _elf_seterr(EMEM PHDR, errno);

329 return (-1);

330 }

331 el f->ed_nyfl ags | = EDF_PHALLCC;

332 1

333 src.d_buf = (EIf_Void *)(elf->ed_ident + eh->e_phoff);

334 src.d_type = ELF_T_PHDR

335 src.d_size = fsz;

336 src.d_version = el f->ed_version;

337 dst.d_buf = el f->ed_phdr;

338 dst.d_size = nsz;

339 dst.d_version = work;

340 if ((_elf_vmelf, (size_t)eh->e_phoff, fsz) != OK_YES) ||

341 (el f_xlatetom & Jst, &src, elf->ed_encode) == 0)) {

342 if (elf->ed_nyflags & EDF_PHALLOC) {

343 el f->ed_nyflags & ~EDF_PHALLCC;

344 free(el f->ed_phdr);

345 }

346 el f->ed_phdr = 0;

347 return (-1);

348 }

349 el f->ed_phdrsz = nsz;

350 return (0);




